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Exercise 4F-2. VCGen for Let.

We use a fresh variable t, which is never used before, to express the let statement. let x = e
in c is equivalent tot :=x; x :==€; C; x:=1.
Therefore

VC(letx=einc,B) =VC

Exercise 4F-3. VCGen Mistakes.
1. cisletx=12iny:=1
2. Bisx—= 12
3. o with o(x) = 13
4. o(x) =13 = VC(c, B) since 12 = 12
5. 0'(x) = 13 because the let command is supposed to restore the original value

6. o’ & B since 0'(x) = 13 £ x = 12

Exercise 4F-4. Axiomatic Do-While.

The statement do ¢ while b is equivalent to c; while b do c. The Hoare for the equivalent
statement is

F{A}c{B} + {B}while b do c{C}
= {A}c; while b do c{C?}

Hence the final rule is
F{A}c{B} + {B}whilebdoc{C}

- {A}do b while c{C'}
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